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ECE measurement analysis
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Status and Plan

Model these two pulses in LUKE with equil (E-field, Te, B, ne...) from METIS/CRONOS

Preliminary results consistent with what we see in experiments. l.e. no REs in 21. E/Ec 2 and 4 in flattops.
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How to handle sawteeth?
Sawteeth producing runaway seed?

COMPASS scenarios

0
Ek
40719
10° —
10‘5 S35 OSSO VOO SO OV WO 0 00 8 OO A ER R A

fE,.&=1)

40721

-10

107 FLo .................... .................... S

tit =0
[

tit =230
[

tit = 460
[

tit_ =690
[

tit = 1150
[

t/’cc = 2300

t/’cc =4600 ||

t/’cc = 11500

tf'tc = 23000

—int RE (E,< 1 MeV)

—bulk
———totRE

ext RE (Ek>1 MeV) | |

-10

107

1 0-40

40721

1

extRE(Ek>1MeV)

—intRE (E, <1 MeV)

—bulk
———totRE

10

t/t

10




